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Section : General Intelligence and Reasoning

Q.1 39 fRmea o1 9= R, [ad & 7 dwereit & g o "9y @, st g 1y wgg i e &

f=r 81
8:88:96

Ans X' 1.12:144:173
K 2.7:77:121
/X 3.9:99:118
o 4 11:121:132

Question ID : 2390877683

Not Attempted and
Marked For Review

Chosen Option : —-

Status :

Q.2 39 U I 799 HR, ot fA=faf@a siaen & useamas Rg (?) & Tu= R o el 81

75, 102, 135, 175, ?
Ans  of 1223

X 2,227
/X 3221
/X 4.225

Question ID : 2390877679
Status : Answered
Chosen Option : 2

Q.3 39 fasey o1 79+ W, AT qelia sieR-Twgg & 91y g 96 g, sl fgdia sier-vgg &1
TUH AER-UYE & &1

UKHA : SMFC : : TURO : ?
Ans X' 1. WLTR

725 2.RLTQ
/X 3.sL1Q
o 4. RLPQ

Question ID : 2390877663
Status : Answered
Chosen Option : 4



Nitin Saini
Rectangle

Nitin Saini
Text Box
Downloaded from
www.sscjecivil.com


Q.4 I -G ol 79 &R, FATd g g i1 2l & ofta adl dev @, st g g ereg—gma &

g 2reat & = 21
garan gen : fifaa

Ans o 1. erft e
/X 2. Fufyy : woeT (weeR)
X 3. dar ;s
/X 4. s : ATt

Question ID : 2390877659
Status : Not Answered
Chosen Option : ==

Q.5 fg g feredt & § @t e @ aga &, it refafaa fRafaat & oo adwra ok srefyof

gl &rfar &1

1. I3 T ST

2. Tt § vder

3. Shictel & yasr
4. AR

5. <=l ehT ATHRROT

Ans X' 1.2,4,1,5, 3

X 251324
K 3.1,324,5
o 415234

Question ID : 2390877652
Status : Answered
Chosen Option : 4

Q.6 A+Ba&rad2'A B HE R
A-Baraifg 'A BRI

AXxBa&wIAAE'A BRragTg

A+Barafg'A Bfraid

FREX+YxZxV-Ug aty, Ua &S dafda g?

Ans  of 1 o
5 2.t
X 3.3
p s

Question ID : 2390877674
Status : Answered
Chosen Option : 3

Q.7 feu g fareal & @ 9 faerea &1 991 &R, St fA=fafEa vifaes fafaal & addma sk

arefyuf shw @t garfar 31




K 2325714
X 323154
X 43,2415

Question ID : 2390877653
Status : Answered
Chosen Option : 1

Q.8 U fAffa gpewrar &, MARKER @t 1311811518 forar sirar &1 3t e & DOCILE &t &
forar srem?

Ans X 1.41638125
75 2.21639115
75 3.21539115
W 4. 41539125

Question ID : 2390877667
Status : Answered
Chosen Option : 4

Q.9 39 AE-giH &1 991 R, wd Ry 71y g1 ereat & fw agt "6y &, 5t Ry 19 rem-gm &
a1 ereal & = 21

4T : SferR

Ans X 1. R : AR
X 2. e : et
o 3. e ue
< 4. R gt

Question ID : 2390877661
Status : Answered
Chosen Option : 3

Q.10 39 R o1 989 o, et Telia ug & a1y agt Heiv g, st g ug w1 uem ug & 81
hegar : Hier :: Reawg 2
Ans X 1. T
75 2. @
X 3. g

W 4 =

Question ID : 2390877656
Status : Answered
Chosen Option : 4

Q.11




3T T () B gaT FY, o AT v o (o) F et 9w Azt samn S awar §

4
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2] 3
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v . Fad sFq (F99) 2

X 2 gg (qFw) 2 3 3 gt
X 3 gg (drFF) 1, 2 3K 4
X 4 gog (diF|) 3 3R 4 =

Ans

Question ID : 2390877689
Status : Answered
Chosen Option : 1

Q.12 39 3R & TG &, ol R=faf@d sjiaen & usearas Rg (?) & T wR 31 bt 81

P.J2A XV

Ans X' 1.G
W 2E
K 3F
5 4H

Question ID : 2390877648
Status : Answered
Chosen Option : 2

Q.13 afk 'A' w1 o1 ‘T @, B o1 o1ef o' @, C @t o1 'merr @ iR D 1 aref st @, &t
Frafafaa afiaror & 9= T« fifeg?

68D189A9B4C88="7
Ans X' 1.49

/X 2.68

/X 3.54

o 4.64

Question ID : 2390877685
Status : Answered
Chosen Option : 4

Q.14 %2,40,000 & et A Y Tofia, FAerTd iR erege & g 39 waR fAaRa favar sran & 6
ofid @t faes areh Af, R ot e arel af @ @ 0 81 sreger 1 ISfia 9 240,000
=7 fAed g1 sreger ot fohasht Afy At 82

Ans X" 1.340,000

W 2.380,000




75 3.%60,000
75 4.%1,00,000

Question ID : 2390877687
Status : Not Answered
Chosen Option : ==

Q.15 39 2AE-giA &1 991 R, [Swd Ry g g1 ereal & <ftw agt w6y &, 5t Ru 719 2reg-gm &
gt ereal & oft @1

fiferar: snhrert

Ans X" 1.t : afaor smRe
75 2. @e v
X 3. T : O
{4.3‘!?1%:@?11

Question ID : 2390877660
Status : Answered
Chosen Option : 4

Q.16 m*wﬁﬂmﬁwmmﬁaﬂw,ﬁmﬁﬁgywﬁw,ﬁmﬁﬁﬁa@ﬁﬁ
# Rmm = ¥ @9 9w W O FE R TR g e

gon -]

Question ID : 2390877694
Status : Answered
Chosen Option : 1

Q.17 39 faerea o1 wa= &R, e qefta ug & a1y ag d@dy @, it fZdg ug o vuw ug | @)
AT wE T ?
Ans X 1. #zeUs
of 2. s

X 3.7




X 4t

Question ID : 2390877657
Status : Answered
Chosen Option : 4

Q18 37 RmeT 1 a@a B, o & 7 Il F siafifa ¥ (TR @Ew) oAty a8 Y

Ans Xmﬁ
B

v 3

Question ID : 2390877692
Status : Answered
Chosen Option : 3

Q.19 56 B 6 wam A, 18 B H1E +ff @ 78 Ao &, 27 i Qaa & ok 29 atehare @aa &
foras o1 gidht 3R afefiar Sl @«d 87

Ans X" 1.19
K2
5 3.9
o 48

Question ID : 2390877688
Status : Answered
Chosen Option : 4

Q.20 U FAfga e &, CANADA @t DZOZEZ forar sitar g1 3+t ggeymsm # EUROPE &t &t
forar srgm?

Ans o 1.DTSNQD
/< 2.DTTNQD
/5 3. CTSMQF
/X 4.CTSMOP

Question ID : 2390877665
Status : Not Answered
Chosen Option : ==




Q.21 Two statements are given followed by three conclusions numbered |, Il and lll. Assuming
that the information given in the statements is true, even if it appears to be at variance
with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:
1. Some red are black.
2. Some black are yellow.

Conclusions:
I. Some red are yellow.

Il. No yellow is black.
lll. No red is yellow.

Ans X 1. Either conclusion | or Il follows.
75 2. Both conclusions | and Ill follow.
X 3. Both conclusions | and Il follow.

( 4. Either conclusion | or Il follows.

Question ID : 2390877670
Status : Answered
Chosen Option : 4

Q.22 fA=fafae el &) 39 AR @ g &2, S & il AsEhir A shaag udia g 81

1. Scolding
2. Scenery
3. School

4. Scheme
5. Science

Ans X' 1.2,4,31,5

/K2.3,2,54,1
75 3.2,3,4,51
o 424351

Question ID : 2390877655
Status : Answered
Chosen Option : 4

Q.23 39 fAerea o1 T4 R, [T Jdia S & a1y ol ey g, st fZda S o o den @
gl

7:147::9:7
Ans X' 1241

o 2. 243
75 3.240
X 4,242

Question ID : 2390877682
Status : Answered
Chosen Option : 2

Q.24 39 3eR &1 T4 N, Sit FAfaf@e sjiaen § usars Rg (7) & T wR o1 Jehar &1

P.U ZE?

Ans X' 1.K
2




K3
K4l

Question ID : 2390877647
Status : Answered
Chosen Option : 2

Q.25 fmie ok eiftfa Fulea & 99a U g & argE-feafa § 43 &) af faete f omn affa &
ZIfg= ok et g, at orftfa & amA i ot Ry @72

Ans X1 ud
/X 2. ufEm

X 3.3®
of 4 @

Question ID : 2390877672
Status : Answered
Chosen Option : 4

Q.26 Rw 1w sEmEOT (Ye=t) W eAEEE wewas wY AR S g e (2) & T 9w T W ¥, 39
HEAT FT T4T L

12 14 26

18 46 48
15 30 ?

Ans X1 45
v 2 37
X3 38
X4 39

Question ID : 2390877684
Status : Answered
Chosen Option : 2

V7 7 Reer w1 waa &Y, Bra # & o sl X safifa ¥
B )

Figure X

[/




v

< 4

Question ID : 2390877691
Status : Answered
Chosen Option : 2

Q.28 fahia gt oAt SteT §1 AT AT i A& g1 IoRT fAehia 1 deT &1 SieTad! & Feheld a2 6l
A&} AT A/ g1 TR A T TS §1 Foi 3R Aerardt 1 o deter g2

Ans X 1. der

of 2.

25 3. =rErAm

P R

Question ID : 2390877673
Status : Answered
Chosen Option : 2

Q.29 39 T &1 99 &, Sit Fafaf@d siaer d vsaras fRig (7) & U= o o 9 gl

12, 15,19, 24, 30, ?
Ans X136

X 2.35
/< 3.34
o 437

Question ID : 2390877677
Status : Answered
Chosen Option : 4

Q.30 39 faheu o1 7o+ R, ATt i sier-ag & ATy ag deiy g, Sit g sier-agg &
TUH HER-EYE | &1

POSTCARD : DRACTSOP : : VALIDITY : ?

Ans




o 1. YTIDILAV
75 2. AVILIDYT
75 3. YTIDIALV

75 4. YTIDVALI

Question ID : 2390877662
Status : Not Answered
Chosen Option : ==

Q.31 39 fasea &1 9g+1 &R, St qefta S & a1y ad d@9y 8, st g dwean o uuw der @
gl

5:130::8:7?
Ans X' 1.410

/X 2,240
75 3.120
o 4.520

Question ID : 2390877681
Status : Answered
Chosen Option : 4

Q.32 3t &y 23 g § eent srgeron |, 1| 3k ||| wifera f fead a=a &1 ag #ea g ok g g
FUE A & TE TR 99 §; 99 & 98 Iad: A aul @ fO= gdia @<t @, ag Aofa &
for ofk gand foh i= A1/Q fAreerd, =T 1 difdher ®0 9 STEROT Ha1/d &/8]

<hY-:
1. gt @ (k) arferat &1
2. S WA (FU) T &

forsepf:

|. g unferat awr g

II. = uiferat @ (Fa) &1
. gaft enforat awra &

Ans X" 1. @t e srgeRor @R B

of 2. Freehe | 3 11 €+t & srgeror e &
75 3. s 1] Sfie 111 S & rgeRor o &
75 4. Fred | ofR 11 Y g orgeRor AR &)

Question ID : 2390877669
Status : Answered
Chosen Option : 2

Q.33 39 HET-gH &1 99 &3, Sad & 7 i demnei & i ad @9y g, sit Ry 1y Sem-gm
&Y ST deemred & i 21

16:128
Ans o 1.20:200

75 2.28:390

75 3.12:112

X 4.22:232

Question ID : 2390877680




Status : Not Answered
Chosen Option : ==

Q.34 39 HER-THE &l TG e, Sl FAfIREd sf@dr J usiarae &g (?) & TU UR 3T Hehel gl

DXTU, HXXU, LXBU, ?
Ans X 1. OXFU

75 2. PBFY
o 3. PXFU
75 4. PYFU

Question ID : 2390877650
Status : Answered
Chosen Option : 3

Q.35 F=fafae siaen § 9 srgRia sier-ugg o1 ag+ &R

PZN, SCQ, VFT, YIW, BLA
Ans  of 1.BLA

75 2.PzN
25 3. VFT
54w

Question ID : 2390877649
Status : Answered
Chosen Option : 1

Q.36 Ry Mg wfieur &t Tgfera aa & g 9 & g Rl ot ok &) Temsi w wRER ageAn
=ifeg?

21 - 14x5+27+3=90
Ans X' 1.3 3R 5, + 3R x

X 2,213 14, + 3R =
75 3.14 3R 5, + 3R x
of 421327, + R -

Question ID : 2390877686
Status : Not Answered
Chosen Option : ==

Q.37 39 €& &1 999 @, Sit Fafaf@ siaer 7 vsaras fRig (7) & U o o g gl

37,39, 42, 47,54, 65, ?

Ans  of 1.78
X 2.77
75 3.76
K 479

Question ID : 2390877678
Status : Answered
Chosen Option : 1




% 5w Rwer &1 waa Y, o & § 7 rpia X sl §
(Tade () A AT AL F)

1|
i

Figure X

Ans

L)

&3

Question ID : 2390877690
Status : Answered
Chosen Option : 2

Q.39 39 faeheu o1 9o o, 9T T sier-ag & A1y a8l 6 g, it fda sier-agg &
YU JHER-TE 4 Bl

ABODE : FEPCB : : CAUSE : ?
Ans "
/5 2. FVTBC
/5 3.DBVTF
/5 4. FTTBB
Question ID : 2390877664

Status : Answered
Chosen Option : 1




\

Q.40 3w a7 amy@ 1 T F, S RE v = F e av @p F &= F q6l #@ a6icn w9 GEka
HT ¥

700

)

Question ID : 2390877695
Status : Answered
Chosen Option : 4

Q.41 39 e o1 9o= &R, e qefta ue & a1y agt d@ay g, it g ue o1 e e 9 2

Question ID : 2390877658
Status : Answered
Chosen Option : 3

Q.42 ges PAfFa gewmr &, MAGIC & OCIKE forar sirar g1 3¢t grewman & SPOON & &9 foran
Sg?

Ans  of 1. URQQP
75 2.VSRRO
75 3.UsQap
75 4. VRNNP

Question ID : 2390877666
Status : Answered
Chosen Option : 1

Q.43 @it oo e & gfyor Y 3k 30 m Tt 81 R ag g gaeft & 9k 40 m Tt &1 a8 g
ard g3t & 3R 60 m T Teh fhdTar & geh aeh UgEd! &1 39 =R SR fohara f g &
g i =Faw @ 79 fifSg

Ans X" 1.80m




75 2.40m
W 350m
75 4.60m

Question ID : 2390877671
Status : Answered
Chosen Option : 3

Q.44 M EFP, Q, R, S, T, U, V 3R W, 90T ¥ # Tah JHThR A & IRI 3R Teh g8 9 I91=
T R g fRan # 93 &1 af Q IwR-yd R A der &, &t V foRe fam A der 82

Ans XLEFQnT—u;f
o 2. o
75 3. af@r-ufgm
X 4.FR

Question ID : 2390877675
Status : Answered
Chosen Option : 2

Q.45 fAEfaf@e el &) 39 UhR F g &2, S & ISl reeahier A shaag udia g 81

1. Casual
2. Causal
3. Case
4. Casting
5. Castle

Ans o 1.3,4,51,2
X 2.4,3125
/X 3.3541,2

X 4.3,4,52,1

Question ID : 2390877654
Status : Answered
Chosen Option : 1

Q.46 B8 AT A, B, C, D, E 3R F Swi-q@ Teh dieft 3ar & 33 & afth sr=dt i i 5t s d &)
CBFIEIMRAETHASIZID, AMRCEFNTASTIF, BAREFMudgizaddaa=d
gt afeh fohRl R3S 872

Ans X' 1.CSRE
of 2. ASRE
/X 3.BRE
75 4 ASRF

Question ID : 2390877676
Status : Answered
Chosen Option : 2

Q.47 U fAffa gevwrsn &, TRUCK = 365 3R FOG = 84 forar strar &1 3t eyt # DOCILE &t
e forar sem?

Ans X" 1.170

X 2.174




o 3172
/X 4.176

Question ID : 2390877668
Status : Not Answered
Chosen Option : ==

LGKR, OCOO, RYSL, ?
Ans X1 UVWI

W 2. uuwi
75 3. TVWK

X 4. TUWJ

Q.48 I 31ER &1 T4 &, Sit FAafaf@e siaen # vsaras Rig (7) & T W 31 Jehar 81

Question ID : 2390877651
Status : Answered
Chosen Option : 1

Gl

A of 116

Q49 s R 71w 4 3w A, ge, HEE F Gwla wwar § Beer geet ® e s ol
‘T, ‘FATFERT F HAENT FaT § W@ FH G T gEat 39 Y Ao F caiFaar $1 g=a e

Question ID : 2390877696
Status : Answered
Chosen Option : 1

YNBGS

xS odvyY
K2eDdANY
“reddVA
vieoddWMY

Q.50 Rw 1w smR-wEar T A AE gIOr wiafdT w1 awa =, F9 9O F 59 g AN @ I

Question ID : 2390877693
Status : Answered
Chosen Option : 4

Section : General Awareness




Q.1 R Gy & IR, I5T uRuS & "Rl ST FRfHT R gtar 87
Ans X1 3ad

/X 2. 49
75 3.5ad
W 2 6af

Question ID : 2390877641
Status : Answered
Chosen Option : 4

Q.2 Which of the following programmes/software is NOT used for creating a word
document?

Ans X 1. Microsoft Word
/X 2. Notepad
/5 3. WordPad

J 4. Adobe Acrobat Reader

Question ID : 2390877597
Status : Answered
Chosen Option : 2

Q.3 3 2019 dh, ¥RA # 20 WS4l 3R hg ™ udei F dave hi FAfA d i off aafwr
dTehlfeieh T@MAdT & fAT fohd SMUTdeRTel FeR UR TUeh R TehdT &7

Ans o 1112
75 2.1098
/X 3.105
75 4.200

Question ID : 2390877600
Status : Answered
Chosen Option : 4

Q.4 T et aTe TRl R Ry 22
Ans X 1. amoTaTg

75 2. fawgm

75 3. e 7§

v

Question ID : 2390877634
Status : Not Answered
Chosen Option : ==

Q.5 U @meia garE (AU) _____ & ofta it @@t o6t fasfoa @l 81
Ans X' 1. e ofR g

X 2. gheiRgy

¥ R GRS

75 4. geft i g




Question ID : 2390877611
Status : Not Answered
Chosen Option : —-

Q.6 2018 & efichel & FFER A fAeE gEepieh (Human Development Index) & A & & frer
a1 i ¥ I=gaw &2

Ans X1 mimR
X 2.
75 3.9Ra

o 4. e

Question ID : 2390877605
Status : Answered
Chosen Option : 3

Q.7 fafaf@a 7 @ g uerf @1 wahn ame: g A9-fRe gag a9 & forg forar srar @2
Ans X" 1. dfefiei

/X 2. Tl

o 3w

P

Question ID : 2390877623
Status : Not Answered
Chosen Option : ==

Q.8 URd smaifal ok Iaimufaal 7 e ad A them ot $feae dar offth e Us devder
(FICCI) =1 71+ e ?

Ans  of 1.1927

75 2.1951
75 3.1947
75 4.1920

Question ID : 2390877606
Status : Not Answered
Chosen Option : ==

Q.9 R gl 9 & e ______ WReN S 9w & dgg oft 3
Ans X 1. wer g

J2.Wﬁg§a

75 3. e g whfrer

X 4w

Question ID : 2390877646
Status : Answered
Chosen Option : 4

Q.10 f=fafEa d & &9 a1 gou o9 gmib 87
Ans X1 FSH

o 2 R




75 3. oA

X 4. R
Question ID : 2390877620
Status : Not Answered
Chosen Option : ==
Q11 SHa 2019 8, __ &l St R 3350 Jo 1 Goh SEIRUT et STRY o war umi
Ans X 1. Tz el 3T
/X 2. % e
X3 RR™
W 4 T e Rig

Question ID : 2390877603
Status : Answered
Chosen Option : 4

Q.12 'fAee Sfiasegg' (Benthos) AT Sfia AHT=IE: el UTg ST 87
Ans X 1. HETATR Ht Fudt wRa H

/X 2. St g et &
o 3 T aE w
X 4. wg T w
Question ID : 2390877625
Status : Not Answered
Chosen Option : ==
Q.13 URSH & "9 <l Yk 3aTS &l
Ans X 1. smaae
X 2. @@
of 3.
X 4. zamm
Question ID : 2390877619
Status : Answered
Chosen Option : 3
Q14 sed ARt Fagg 15 @ ______ 9@ & i} st e @1
Ans X 1.t o
/X 2. &iom wg
X 3. Feie Wi
( 4. Feis 998
Question ID : 2390877612
Status : Answered
Chosen Option : 2
Q.15 ‘& 9+ I ai-s & forg g 2es &, S swatr __ & fog fovar sirar @1

Ans




W 1. T S gzt oo
X 2. SR et et Prwfor oy

7 3. vgu <aeh vafarofa oRatoETe
7 4. TR i graw

Question ID : 2390877607
Status : Not Answered
Chosen Option : ==

Q.16 ¥R = &t offd srafd farerft gl 82
Ans o 111

K 2. 7ad
75 3.5a
75 4. 9ad

Question ID : 2390877621
Status : Not Answered
Chosen Option : ==

Q.17 STENR ______ &1 & 3id d w1 65 fafers adf ugat g gt g
Ans X 1. SRR

/< 2. 3 (i)

J3.%Qm

75 4. uff

Question ID : 2390877614
Status : Not Answered
Chosen Option : ==

Q.18 ¥R i wdaror (GSI) & FgHR YR o1 Haffde AhEe HSR a1e A4 i &1 87
Ans o 1. srEUTTe R

75 2. 7ERIE
/X 3. oo

X 4. At g

Question ID : 2390877631
Status : Not Answered
Chosen Option : ==

Q.19 ettt A Har 379 @ s ereaga & wdfaa 87
Ans X 1. =Tt Y orEfiear

7% 2. AR & sead anf & e

< 3. gt & orfaRe v

of 4. Siansst & snmeR w gedt o sfae & g

Question ID : 2390877618
Status : Answered
Chosen Option : 4




Q.20 @€ 2019 &, YR &Y ugeft 'f g’ ___ @R # g i 1 off
Ans X 1. dTge

75 2. siture

o 337

75 4. FewEe

Question ID : 2390877599
Status : Not Answered
Chosen Option : ==

Q.21 YR TR T 1A AT A3 AT TAIBR hl AT AT T STARR UeT T &2
Ans X 1. argee 251

75 2. argede 100

/X 3. g 166

o 4. o= 213

Question ID : 2390877643
Status : Not Answered
Chosen Option : ==

Q.22 snfdrepties wremstt H G F Rt d@feam i forw st & siavfa war mar @2
Ans X1 74t

/X 2. odf

75 3. ot

o 4 &dt

Question ID : 2390877640
Status : Answered
Chosen Option : 1

Q.23 S[ETE 2019 #, 9 dgaa ot st fordhe gfer oifs thw & wwmfaa favam wan o ag ag
T U aret R fohdher &1

Ans X 1. gd
K 2.7
/X 3.58
W 2 6d

Question ID : 2390877645
Status : Answered
Chosen Option : 3

Q.24 379 @ fRd wrg W@l i g & fifa R aat § enfas a8 fRrar mn 82
Ans  off 1. gu o iR

25 2. T darrdt & e

X 3. g W & g T e

75 4. ur = SR Pgesh HrE wgrar




Question ID : 2390877642
Status : Not Answered
Chosen Option : ==

Q.25 wat 2019 #, 2 Ui yRdT Teal & ST arferenreit @ affaa A & fag
ffSiea ferfehT oiik de=fAu wrfer o= foFaT| 39 wRfsRA a1 a1 'MET SifeeTe oo e’

(GOAL) 3@ T 81
Ans X 1. ATEsIETE
W 2 tag
75 3. g9 (Huawei)

X 4T

Question ID : 2390877604
Status : Answered
Chosen Option : 4

Q.26 Fr=faf@a d @ o= @ aReer FiRsiow aa & fog swers 87

Ans X 1. dgH & T T
< 2. gt o1 g & At ok uRe e
o 3. gt o SR o 3 TR SR e
75 4. g & el @ e araw

Question ID : 2390877632
Status : Not Answered
Chosen Option : —-

Q.27 'Angstrom' is a unit of measurement of
Ans X 1. time

75 2. density
/< 3. height
J 4. length

Question ID : 2390877608
Status : Answered
Chosen Option : 4

Q.28 F=faf@a d @ =i o1 dfera 2ree, g ofi sfaes areil o Torar 3 & g wRa &

I TR & FRiRA F el @ 82
Ans X' 1. BREATHE

75 2. UDAAN

/5 3. HAEV
o 4 FAME

Question ID : 2390877602
Status : Answered
Chosen Option : 2

Q.29 wifR™ fFa JoHAfae & & TeuUs 47
Ans K" 1. ot e aref




o 2. a5 TS urd
27X 3. agom 2 g uéf

/X 4. wrSardt aréf
Question ID : 2390877644
Status : Not Answered
Chosen Option : —-
Q.30 Fe,03, AT g S 1 AT A 81
Ans X 1. ITRA UTERTEE
o 2. e
P R
/X 4. forirde

Question ID : 2390877615
Status : Answered
Chosen Option : 2

Q.31 urg SifraTgS] &l STuafd i UTg UT @A Y Faifde Sugeh fAfy

Ans X 1. JEdr guaEnzor
75 2. sffae
7< 3. Sief At

o 4.

H|

Question ID : 2390877616
Status : Not Answered
Chosen Option : —-

Q.32 3 €A T HEATY I AT?
Ans X' 1. Stz

o 2. gt
X 3. gur
75 4. gezy

Question ID : 2390877633
Status : Not Answered
Chosen Option : —-

Q.33 Tt & WIS (UV) SUER T T 3827 87
Ans X 1. T dives dedl 7 gf a3
75 2. 75 AT T Y R e B
75 3. 75 urt &Y wewar § GuR weaT 31
o 4. 75 Sharsi & RfSs @ 2

Question ID : 2390877609
Status : Not Answered
Chosen Option : —-




Q.34 31« 2019 #, AR A7 T stg T3 9 Riaafagl ol g sierss w@Rex & gfd A,
Ig IS # fea 81

Ans X 1. sitfdan
of 2. e
75 3. o R
/X 4. At g

Question ID : 2390877601
Status : Not Answered
Chosen Option : ==

Q.35 =g g & R Yl uR g It fis A & aRomaeassy A | @ @i & e o
fmfor gam war?

Ans  off 1. AR et
X 2. wiR Eia
75 3. Fhsha
/X 4. ger e

Question ID : 2390877627
Status : Not Answered
Chosen Option : ==

Q.36 'SufvE' 1 H¥pa & GRHE HIHT & 1gdTE et ol 917 T8 | fone R sman 87
Ans X 1. g BT

/X 2. e st

75 3. st

W 4 @ R

Question ID : 2390877636
Status : Answered
Chosen Option : 4

Q.37 A7 & gah 6l G TS R Uhraiedd 3hs ______ 8l
Ans  of 1. g

X 2. R

/X 3. ufeaiet

25 4. 3 dege

Question ID : 2390877613
Status : Answered
Chosen Option : 1

Q.38 1€ 2019 #, Ffee deht & mraes 3 Tfia s a1 '2019 w@ifta swenfAfY gremR sfar?
Ans X 1. &

/X 2. o g sffar

J&Wzﬂmm

/X 4. qE e




Question ID : 2390877638
Status : Not Answered
Chosen Option : ==

Q.39 ‘A AeRTH e’ TS GF & e B 87
Ans X 1. 9qq W

/X 2. we v

X 3. sifidra iy

(4.@2’??4%@

Question ID : 2390877639
Status : Not Answered
Chosen Option : ==

Q.40 ¥Ra #, &y 7 vorne fit 790 | fra 7 ol Sifetha & URig a9 T3« & 9 J 1 STren
%:,

Ans o 1w
X 2. Ry
/X 3. Fags
X 4. e

Question ID : 2390877629
Status : Answered
Chosen Option : 2

Q.41 ag Stergie, ad nfora T ot @y o= Hr g & a1y dReal (row) ok w9l (column)
o cgafedd a1 3R SIehRrRY A« gt 8, T shgetrar 82

Ans X 1. srerde ot
75 2. fufie
Ja Tesfie

75 4. AR

Question ID : 2390877598
Status : Not Answered
Chosen Option : ==

Q.42 F=faf@a d § &9 a1 demg ¥Ra & gdf ae = T &2
Ans X 1. Tz

o 2. FrRER

/< 3. @if=

25 4. =grar

Question ID : 2390877630
Status : Not Answered
Chosen Option : ==

Q.43 fAfra Ruaer &, Ateer Far yffienr Humar 82
Ans o 1. g e & gk gl A o o e 8
27X 2. 7 ffrar # IaRe 6 g Fref o B




75 3. sua! IuaT sifafdhar @ At 3 frg foa S 81
/X 4. a5 T fRde &t ufdhar g e 31

Question ID : 2390877624
Status : Not Answered
Chosen Option : ==

Q.44 ‘T et ___ & Hafla a@ed g1
Ans  off 1. Sicrarg aRad
/X 2. H-uR srdeaTe
25 3. i wdter w afdsy T
75 4. & g

Question ID : 2390877626
Status : Not Answered
Chosen Option : ==

Q.45 fA=faf@a d @ S a1 fadea gaR IR de & U8l &l 39& g9 & T&l RIg) & ot rfar
87

Ans X 1. e, sreuT, aw0r
75 2. gewfa, gz, Sre
J:%.m,qgm%,w

25 4. a0, SR, HA

Question ID : 2390877617
Status : Answered
Chosen Option : 1

Q.46 'vtereRw &= uRatsEr a6 fAafor o= forar s 8T 81
Ans X 1. TERY TE&

75 2. Fad &

/X 3. e Tl

W 2. e T

Question ID : 2390877628
Status : Not Answered
Chosen Option : —-

Q.47 FAfefaa 7 @ g garf o1 vahT am=Ta: $o 321 | Gel ol pHm &9 9 geE & o e
STt 87

Ans X 1. gegsfifie seiss
7 2. SR Feiss
o 3. R Feige
75 4. smade

Question ID : 2390877622
Status : Answered
Chosen Option : 3




Q.48 et A & e H, 'S’ qreg ______ voTelt oY Ha e e 21
Ans X1,g1%m

X 2.8

W 3 o

75 4. =i

Question ID : 2390877637
Status : Answered
Chosen Option : 3

Q.49 ¥Ra & Aumgifie @1t & RgF, sige wore 398 & fradh =ard 47
Ans  of 1 s

X 2. aR

75 3. amgeTet

75 4. sl

Question ID : 2390877635
Status : Not Answered
Chosen Option : —-

Q.50 fA=fafEa 7 @ o wg = ' 791 5919 (gas giant)' ft we1 ST 872
Ans X1 gy

v 2 T

75 3.9

X 4%

Question ID : 2390877610
Status : Answered
Chosen Option : 3

Section : Part A General Engineering Civil and Structural

Q.1 The water content at which soil changes from a liquid state to a plastic state is known as:
Ans 1. plastic limit

/< 2. shrinkage limit

W 2. liquid limit

/< 4. consistency limit

Question ID : 2390877584
Status : Answered
Chosen Option : 1

Q.2 What is the expression for crippling load for a column with both ends hinged?

Ans n? Bl
1. P=

X1 P 0

J 2. p— w2 El

Ok




: 3m2El
3. =
X3P o

; sntEl
4, e
X4 Pp o

Question ID : 2390877550
Status : Answered
Chosen Option : 2

S 24 kiN/md
X 222 kN/m?
X3 23 KN/m®
K4 21 KN/m?

Q3 According to IS 456:2000, what should be the unit weight of plain cement concrete?

Question ID : 2390877541
Status : Answered
Chosen Option : 1

Ans

#< 1. The line of collimation is less affected while focusing.
/< 2. The telescope is more balanced during operation.
7< 3. There is no movement of sliding tubes.

« 4. There are two separate tubes.

Q4 YWhich one is the disadvantage of Internal Focusing Telescope?

Question ID : 2390877559
Status : Answered
Chosen Option : 2

Ans X1 0.035 in shear

< 3. 0.0035 in shear
7% 4. 0.035 in bending

+ 2. 0.0035 in bending

Q.5 According to IS 456:2000, the maximum strain in concrete at the outermost compression fibre is taken as:

Question ID : 2390877544
Status : Answered
Chosen Option : 3

Ans 1. Nagpur plan

/< 2. Kanpur plan
« 3. Lucknow plan
/< 4. Bombay plan

Q.6 The Road Development Plan for India for the period of 1981 to 2001 is also known as:




Question ID : 2390877592
Status : Answered
Chosen Option : 4

Q.7 Determine the position of center of pressure (from the surface), for a rectangular lamina of height i immersed vertically

Ans

in water upto a depth 4 below the free surface.

5h

Question ID : 2390877533
Status : Answered
Chosen Option : 1

Q.8 As perIS 800:2007, what should be the maximum slenderness ratio for the tension members in which reversal stress

Ans

due to load other than wind or seismic forces occurs?

< 1350
< 2 580
v 3 180
< 4400

Question ID : 2390877551
Status : Answered
Chosen Option : 1

Q.9 According to Gales, the upstream length of a guided bank should be

Ans

cumecs.

W 1. 1.25 litres
#< 2. 0.1 litres
& 3. 2 litres

< 4. 0.2 litres

for discharge berween 7000 to 21,000

Question ID : 2390877525
Status : Not Answered
Chosen Option : —-

Q.10 According to WHO, what is the permissible chloride content in drinking water?

Ans

< 1 1 mgl
/< 2. 0.001 mg/l
/< 3. 350 mg/l

« 4 200 mg/l

Question ID : 2390877509
Status : Not Answered




l Chosen Option : —

Q.11 The factored load carrying capacity of a reinforced concrete column (M20 concrete, Fe 415 steel) of 350 mm X 650 mum
size with minimum percentage of steel is :

Ans X1 2500 kN
v 2 2326 KN
X 3 1536 kKN
K 4 1976 kKN

Question ID : 2390877546
Status : Not Answered
Chosen Option : —-

Q.12 HaA-TAT F 39-fwA & AFER, 30 WA S R FE S g, Swdr W o v dEw @ agdr
femmr o 1 O & o g &

As of 1 TEE (Abut)
< 2. Frerher
<5 FaF
<4 FTETar

Question ID : 2390877569
Status : Answered
Chosen Option : 1

Q.13 Which of the following sentences is correct in the case of Bishop’s simplified method of slice?

Ans 1. It satisfies only horizontal force equilibrium.

v &)

It disregards the effect of the forces acting on the sides of the individual slices.
/< 3. It satisfies only vertical force equilibrium.

#< 4. It satisfies only moment force equilibrium.

Question ID : 2390877590
Status : Not Answered
Chosen Option : ==

Q14 T ean concrete base is an example for
Ans 3 1. Composite pavement
/< 2. Flexible pavement
+ 3. Rigid pavement

75 4. Semi-rigid pavement

Question ID : 2390877596
Status : Answered
Chosen Option : 3

Q.15 Which of the following qualities is desirable in a good surveyor’s telescope?




Ans o 1. Achromatism
/< 2. Chromatic aberration

7< 3. Spherical aberration

7< 4. Very high magnification

Question ID : 2390877557
Status : Not Answered
Chosen Option : ==

Q16 Toughness Index of a soil is the ratio of:

Ans  of 1. Plasticity Index to Flow Index
/< 2. Liquidity Index to Shrinkage Index
/< 3. Liquidity Index to Consistency Index
/< 4. Shrinkage Index to Liquidity Index

Question ID : 2390877588
Status : Answered
Chosen Option : 2

Q17" The type of cement used in lining of deep tube wells is:
Ans 1. Blast furnace slag cement
/< 2. Oil well cement

« 3. Portland pozzolana cement

/< 4. High alumina cement

Question ID : 2390877539
Status : Answered
Chosen Option : 4

Q.18 Which of the following statements is correct in the case of the seismic method of site investigation?

Ans o 1.
If the surface layer is frozen, then the method cannot be used.

X2

The method can be used if a hard layer with a greater seismic velocity overlies a softer layer with a smaller seismic
velocity.

X 3

If an area contains underground features such as an irregular water table, the interpretation of the results becomes very
difficult.

p

The method can be used for the areas covered by concrete or asphalt pavement having a high seismic velocity.

Question ID : 2390877587
Status : Not Answered
Chosen Option : ==

Q.19 A l-m-long steel rod with a cross-section of 20 mm * 20 mm is subjected to tensile forces of 40 kN. Determine the
elongation of the rod if the modulus of elasticity is 200 GPa.




Ans

' 0.5mm
< 2 5mm

/< 3. 0.005 mm
&< 4 50 mm

Question ID : 2390877577
Status : Answered
Chosen Option : 1

Ans

¥F e g & = 27

X 1. 3=HFd F=1i#ca (Freehold)

X 2. TumT 93T (Perpetual lease)
/< 3. 39 92T (Sub lease)
v 4 3TSTEe 9gT (Life lease)

Q.20 fr=fafem & & #=-w 72 &1 98 7o §, ow G ofeq & G 98 & 3l @few & g 7%

Question ID : 2390877574
Status : Answered
Chosen Option : 4

Ans

Q.21 What will be the rough cost estimate for a first class building having a plinth area of 100 m?,

necessary additions of 20% are to be made for public health worth?

X 1. 212,000
% 2. 260,000
7 3. 272,00,000
W 2 272,000

if the rate/m? is 2600 and

Question ID : 2390877572
Status : Answered
Chosen Option : 1

Ans

#< 1. Kinematic viscosity
+ 2. Reynolds number
7< 3. Specific weight

X 4. Chezy’s co-efficient

Q22 Tdentify the dimensionless parameter from the following.

Question ID : 2390877531
Status : Answered
Chosen Option : 2

Ans

/< 1. Tetracalcium alumino ferrite
/< 2. Tricalcium aluminate

/< 3. Dicalcium silicate

Q.23 Which of the following cement is supposed to be the best cementing material and is well burnt cement?




4 Tricalcium silicate

Question ID : 2390877537
Status : Answered
Chosen Option : 4

Q.24 Asteel built up column is subjected to an axial force of 1000 kN. The lacing system has to be designed for resisting a
transverse shear of :

Ans X 1. 30 kKN
X 2 20kN
V3 25KN
X 4 15kN

Question ID : 2390877549
Status : Answered
Chosen Option : 3

Q.25 A saturated soil sample has a dry unit weight of 18000 N/m? and specific gravity 2.65. If unit weight of water is 9810
N.’m3, determine the water content of the soil sample?

Ans  of 1.0.17
X2 041
<3 034
X 4025

Question ID : 2390877589
Status : Not Answered
Chosen Option : ==

O zm IR of F 9o w S TefE W e 2
S et FT e =

X 2

HTHITE #T Fpfae Aterar (natural drains) &t 9 &

X 3 T TR0 T HACET Fieh
X o =g F dgar 7 3 w0

Question ID : 2390877523
Status : Answered
Chosen Option : 4

Q.27 In surveying, which of the following instrument is used for indirect measurement?
Ans o 1. Metric chain

# 2. Pedometer

/< 3. Speedometer

/< 4. Passometer

[ Question ID : 2390877560




Status : Answered
Chosen Option : 1

% IR F IES § T ¥ SO FUT T 8
Ans X 1.

59 AL | F e il | F e G aen g, Pife Aeet e W F B Aen A
AT e e e a5

v

e Fr 25% & FH AN F FoAET W § TOERT F W ThsT @ F 3 o
5 3
AT 3R I FT AR T W1 F A H Hee 2 g
< 4

I 39 1 U BT W Wi 6 Hisg g, o 78 T e @ S & § T adieT
[T W Aiager YT ST §

Question ID : 2390877498
Status : Answered
Chosen Option : 1

Q.29 1n soil engineering, what is the volumetric relationship that defines-porosity?
Ans X 1. The ratio of the volume of voids to the volume of solids
#< 2. The ratio of the volume of air to the total volume

#< 3. The ratio of the volume of water to the volume of voids

« 4. The ratio of the volume of voids to the total volume

Question ID : 2390877585
Status : Answered
Chosen Option : 4

Q.30 sreiig =18 & Hemt F aga Aol S W HlA-a 7ér el gaat & =N W T & W & ¥ A Al
F agr &7

X 1. ZEse REw (Tidal river)
v 2 938 T&T (Braided river)
X 3. weleft =R (Flashy river)
X 4 afds =T (Virgin river)

Ans

Question ID : 2390877524
Status : Not Answered
Chosen Option : ==

Q.31 The magnetic bearing of a line is found as 350 45°_ If the declination is 3% 45" E. the true bearing of line is :
Are XK 500 300

« 2. 39{:' 30°

<3 1200300




K4 320

Question ID : 2390877564
Status : Answered
Chosen Option : 2

Q.32 According to IS 456:2000, what is the maximum spacing that is allowed for vertical stirrups in a simply supported

beam?

Ans 1. 150 mm
v 2 300 mm
# 3. 500 mm
X 4. 600 mm

Question ID : 2390877543
Status : Answered
Chosen Option : 2

OB ¥z F veris Hee ¥ == I S B

s X wfiree
X 2. Qe ar
K3 3THESRAT
v i IoF FTOaT FIEoT

Question ID : 2390877500
Status : Answered
Chosen Option : 2

Q.34 The art of assessing the present fair value of a property at a stated time is known as:

Ans o 1. Valuation
/< 2. Salvage value
#< 3. Book value
< 4. Rateable value

Question ID : 2390877576
Status : Answered
Chosen Option : 3

Q35 WWhat are the errors that cannot be eliminated in surveying?

Ans 1. personal errors

+ 2. random errors

/< 3. instrumental errors

/< 4. errors due to natural causes

Question ID : 2390877558
Status : Answered
Chosen Option : 4




Q.36 Inestimation and valuation, the charges that are levied at the time of transfer or issue of the stock in addition to the book
value and storage charges are termed as:

Ans  of 1. jssue rate

#< 2. market rate

/< 3. supervision charge

/< 4. storage charge

Question ID : 2390877565
Status : Answered
Chosen Option : 3

Q.37 is 33 feet long and is mostly used for cadastral surveying.
Ans 1. Gunter’s chain

/< 2. Band chain
/< 3. Metric chain
+ 4 Revenue chain

Question ID : 2390877561
Status : Answered
Chosen Option : 1

Q.38 A city has a population of 10,000 with an area of rapid filter as 20 m? and an average filtration rate of 4000
litres/hour/m? of the area. What will be the rate of demand?

Ans X" 1. 158 litres/head/day
' 2 128 litres/head/day
< 3. 160 litres/head/day
/< 4. 145 litres’head/day

Question ID : 2390877516
Status : Not Answered
Chosen Option : ==

Q.39 Which method of surveying distance and elevation involves measuring the vertical angle to the graduation on staff using
the principle of trigonometry?

Ans < 1. Trigonometrical

/< 2. Triangulation
/< 3. Traversing
« 4 Tachometry

Question ID : 2390877555
Status : Answered
Chosen Option : 4

Q.40 Which of the following is a non-automatic rain gauge used in the measurement of rainfall?

Ans  of 1. Symon's rain gauge




/< 2. Float-type rain gauge
/< 3. Weighing bucket rain gauge
/< 4. Tipping bucket rain gauge

Question ID : 2390877510
Status : Answered
Chosen Option : 1

Q.41 1n a hydraulic jump, if the Froude number F; = 4.5 to 9.0, then the jump is called a/an:
Ans <10 weak jump

/< 2. oscillating jump

/< 3. undular jump

W 4. steady jump

Question ID : 2390877527
Status : Not Answered
Chosen Option : ==

Q.42 Identify the correct statement pertaining to Bligh’s creep theory used in the design of impervious floor for structures
found on pervious soils.

Ans  of 1. Head loss is directly proportional to creep length

X 2

Head loss is inversely proportional to the square root of creep length

/< 3. Head loss is inversely proportional to creep length

F

Head loss is directly proportional to the square root of creep length

Question ID : 2390877521
Status : Not Answered
Chosen Option : ==

Q.43 A method in which the plinth area of a building is measured and then multiplied by the current plinth area rate is:

Ans X 1. Cost from detailed items
/< 2. Cubic rate estimate
+ > Estimated from the plinth area basis

/< 4. Estimated cost from accounts

Question ID : 2390877575
Status : Answered
Chosen Option : 2

Q.44 AsperlIS 13311 (Part 1), in the ultrasonic test for hardened concrete, good quality of concrete is indicated if the pulse
velocity is:

Ans o 1. 3.5 km/s to 4.5 km/s
X 2. 3.0 km/s to 3.5 km/s
/< 3. Below 3.0 km/s




X 4 Above 4.5 km/s

Question ID : 2390877542
Status : Not Answered
Chosen Option : —-

Q45 If H is the head over the crest of a rectangular weir, the discharge varies as :
Ans o1 gl.5

X2 H

X3 2.5

X 4 g0.5

Question ID : 2390877529
Status : Answered
Chosen Option : 3

Q.46 Which technique of water distribution in farms is also called trickle irrigation?
Ans 1. Free flooding

/< 2. Sprinkler irrigation

/< 3. Border flooding

+ . Drip irrigation

Question ID : 2390877517
Status : Answered
Chosen Option : 3

Q47 Which of the following is true in the case of a freeholder?

Ans  of 1. A freeholder is the absolute owner of the property.
X 2

A freeholder requires to pay periodic payment regularly to hold the position of the property.

5 3

A freeholder possesses the occupational right for a specific period of duration.

p

A freehold ownership is for possession against payment and terminates as soon as the lease period is over.

Question ID : 2390877573
Status : Not Answered
Chosen Option : ==

Q.48 Which of the following constituents in the manufacture of glass acts as an accelerator for the fusion of glass and an
excess of which will be harmful?

Ans X 1. Cullet
< 2. Potash
+ 2 Soda
< 4 Lime




Question ID : 2390877499
Status : Answered
Chosen Option : 2

Q.49 With respect to irrigation efficiencies, the ratio of the quantity of water stored into the root zones of crops to the quantity

Ans

of water actually delivered into the field is called:

' 1. water-application efficiency
/< 2. water-storage efficiency
/< 3. water-conveyance efficiency

/< 4. water-use efficiency

Question ID : 2390877518
Status : Not Answered
Chosen Option : ==

Q50 The modulus of Elasticity of concrete is given by Ec = MPa.

Ans

v 1. S000VE
X< 2. 3000V
x3. Sﬂﬂﬂfck
x4. Zﬂﬂﬂfck

(Where = characteristic compressive strength of concrete cube)

Question ID : 2390877548
Status : Answered
Chosen Option : 1

Q51 Which of the following is the chemical classification of rocks?

Ans

' . Silicious rock
< 2. Stratified rock
#< 3. Foliated rock
#< 4. Unstratified rock

Question ID : 2390877503
Status : Not Answered
Chosen Option : ==

Q52 The rocks that possess crystalline and compact grains are called:

Ans

#< 1. siliceous rocks
' 2. unstratified rocks
#< 3. stratified rocks
< 4. foliated rocks

Question ID : 2390877508
Status : Not Answered
Chosen Option : —-




Q.53 What is the grade of timber as per timber grading (IS 6543), if the modulus of elasticity in bending is between 5.6 to 9.8
KN/mm??

Ans X 1. Grade D
< 2. Grade A
v 3 Grade C
& 4 Grade B

Question ID : 2390877504
Status : Not Answered
Chosen Option : —-

Q.54 1Ina highway an ascending gradient of 1 in 100 meets with a descending gradient of | in 80, determine the deviation
angle?

Ki—
Ko —
v .
x4 L

400

Ans

Question ID : 2390877593
Status : Not Answered
Chosen Option : ==

Q55 According to the Indian Standard Classification, the soil is classified into:
Ans X" 1. 23 groups

/< 2. 5 groups
« 3. 18 groups
#< 4. 10 groups
Question ID : 2390877583
Status : Not Answered
Chosen Option : ==
Q56 Sftg S = EaRT AT A AT 51 wear g

MK o Rew @ @
VoA ;I wE
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Question ID : 2390877562
Status : Answered
Chosen Option : 4




Ans

v

/< 2. To increase the carbon dioxide content of water

/< 4. To preserve hydrogen sulphide

Q57 wWhich of the following is an objective of aeration of water?

#< 1. To decrease the dissolved oxygen content of the water

To remove tastes and odours from the gases produced due to organic decomposition

Question ID : 2390877511
Status : Not Answered
Chosen Option : ==

Ans 5 1. Sulphates
#< 2. Chlorides
< 3. Nitrates
« 4. Carbonates

Q.58 The presence of which of the following is a reason for temporary hardness of water?

Question ID : 2390877514
Status : Not Answered
Chosen Option : ==

Ans X1 Tee section

/< 2. Symmetrical I section

+ 2. Angle section

/< 4. Unsymmetrical I section

Q59 Identify the one where the centroid of section lies outside section?

Question ID : 2390877579
Status : Answered
Chosen Option : 3

(Where x,, = depth of neutral axis)

Q.60 What is the Neutral axis depth for a singly reinforced beam from the top extreme fibre as per IS 456:2000?

Ans o 1. 0.45 and 0.50

Poisson’s ratio of rubber lies between:

Ans 1. 15X,

X 2. 0.36f

v 3 042x%,

7 4. 0.002x,,

Question ID : 2390877545
Status : Answered
Chosen Option : 3

Q.61




< 2 0.23and0.27
< 3.0.25 and 0.33
< 4 0.08 and 0.18

Question ID : 2390877582
Status : Answered
Chosen Option : 3

Q62 The covered area of a building measured at the floor level is called:

Ans

« 1. Plinth area
/< 2. Sundry area
/< 3. Carpet area

/< 4. Circulation area

Question ID : 2390877571
Status : Answered
Chosen Option : 1

Q63 A floating body is said to be in stable equilibrium if:

Ans

/< 1. Tts centre of gravity is below the centre of buoyancy

/< 2. Tts metacentric height is zero

/< 3. Its metacentric height is a negative value

+ 4. Its metacentric height is a positive value

Question ID : 2390877534
Status : Answered
Chosen Option : 1

Q.64 According to Central Building Research Institute, what is the specification adopted for the floor of single and double-

Ans

storey buildings?

v
X2
X3
X a

38-mm-thick cement concrete 1 : 2 : 4 laid over 11.5-cm-thick cement concrete 1 : 5: 10

40-mm-thick cement concrete 1 : 3 : 5 laid over 11.5-cm-thick cement concrete 1 : 5: 10

38-mm-thick cement concrete 1 : 4 : 6 laid over 11.5-cm-thick cement concrete 1 : 5: 10

30-mm-thick cement concrete 1 : 3 : 5 laid over 11.5-cm-thick cement concrete 1 : 5: 10

Question ID : 2390877570
Status : Not Answered
Chosen Option : ==

Q.65

F

X 2

Which of the following is an assumption made in the Theory of Simple Bending?

Beam material within elastic limit does not obey Hooke’s Law




The value of Young’s modulus varies in tension and compression.
#< 3. The material of the beam is not homogeneous.

« 4. The beam is in equilibrium.

Question ID : 2390877578
Status : Answered
Chosen Option : 4

Q.66 The relation between bulk modulus (K) and Young’s modulus (E) and Poisson’s ratio (1/m) is given by:
Ans X1 K =mE/3

X 2 K=E/[3(m- 2)]

W 3 K=mE/[3(m- 2)]

X 4 K=mE/3m)

Question ID : 2390877580
Status : Not Answered
Chosen Option : ==

Q.67 Incontracts and tenders, which authorised bill is the only form of running account bills that are suited for transactions
with suppliers?

Ans 5 1. Hand Receipt [DFR(PW)26]
#< 2. First and Final Bill [DFR(PW)22]
/< 3. Running Account Bill ‘A’ [DFR(PW)23]
+ 4 Running Account Bill ‘C’ [DFR(PW)25]

Question ID : 2390877566
Status : Answered
Chosen Option : 2

Q.68 What is the common scale adopted in the form of a representative fraction for the forest map?
Ans 1. 1/10000

v 2 1/25000

< 3. 1/1000

X 4 1/100

Question ID : 2390877556
Status : Answered
Chosen Option : 1

Q.69 What is the relation between equivalent length ( L,) and actual length (/) for a column with one end fixed and the other

free?
s o1 (L,=21)
XZ {Le=i)

~ 3 (L,=251)




X4 (L,=31)

Question ID : 2390877552
Status : Answered
Chosen Option : 1

Q70 What is the percentage of sulphur trioxide in ordinary Portland cement?

Ans

< 1. 3.5%to 9%
< 2 17% to 25%
< 3. 60% to 65%
v 4 19%102%

Question ID : 2390877536
Status : Not Answered
Chosen Option : ==

Q.71 If the pH of the water is more than 8.5, then which of the following chloramines will be formed?

Ans

/< 1. Both monochloramine and dichloramine

+ 2. Only monochloramine
/< 3. Only trichloramine
/< 4. Only dichloramine

Question ID : 2390877512
Status : Not Answered
Chosen Option : ==

2 4z F gaEF F TN =8 F ¥ Fr Femar T 27

Ans

v . T F ae (Tung oil)
X2 TS

X3 ardeT =T ad

< 4 ghe o

Question ID : 2390877501
Status : Not Answered
Chosen Option : ==

Q.73 Find the delta for a crop when its duty is 864 hectares/cumec on the field and the base period of the crop is 120 days.

Ans

A1 310 cm
< 2. 864 cm
#< 3. 400 cm
W 4 120 cm

Question ID : 2390877520
Status : Answered
Chosen Option : 2




Q.74 What will be the end moment of a fixed beam with a uniformly distributed load of 'w' kN/m? and a length of 7' m?
Ans XL awis

K2 w2

v i w22

K< 4 =wiis

Question ID : 2390877581
Status : Answered
Chosen Option : 1

Q75 WWhat is the content of carbon in pig iron?
Ans  of 1394 t0 4%

< 2 0.5%to 2.5%

X< 3. 0.002%to 0.1 %

< 4. 5% to 8%

Question ID : 2390877497
Status : Answered
Chosen Option : 1

Q76 wWhich of the following is an advantage of tile drainage?

Ans 1. Tt decreases air circulation.

/< 2. It decreases bacterial activity.

v

It removes the free gravity water that is not directly available to the plants.

p

It decreases the volume of soil from which the roots can obtain food.

Question ID : 2390877522
Status : Not Answered
Chosen Option : ==

Q.77 Anopen tank contains 60 cm of water covered with 30 cm of oil of specific gravity 0.8. The pressure intensity recorded
at the bottom of tank is:

Ans X1 9430.6 N/m?
< 2. 8829 N/m?
< 3 23544 N/m?

v 4 8240.4 N/m?2

Question ID : 2390877535
Status : Answered
Chosen Option : 1

Q78 WWhich of the following is also called inundation irrigation?

Ans X' 1. Combined scheme




/< 2. Storage irrigation
/< 3. Diversion irrigation

« 4 Flow irrigation

Question ID : 2390877519
Status : Not Answered
Chosen Option : ==

Q.79 Asteel rod of 20 mm diameter is used as a tie member in the roof bracing system, and may be subjected to possible
reversal of stress due to wind load. What is the maximum permissible length of the member?

Ans X1 2500 mm
& 23000 mm
V' 3 1750 mm
# 4. 2000 mm

Question ID : 2390877554
Status : Answered
Chosen Option : 3

Q.80 When compared with open caissons. floating caissons generally

Ans  of 1. are less expensive

/< 2. have a greater depth below the ground surface

7< 3. have a higher load-carrying capacity

/< 4. have a slow and inconvenient installation

Question ID : 2390877586
Status : Not Answered
Chosen Option : ==

Q.81 The autoclave test is used to determine the in Portland cement.

Ans X 1. calcium content
/< 2. rate of hydration

« 2. expansion

7< 4. sulphur content

Question ID : 2390877540
Status : Not Answered
Chosen Option : ==

Q82 wWhat do you mean by 'contingencies' in deposit works?
Ans X 1.
The allotment of the funds to the department for a particular work
X 2

The re-allotment of the funds from one work to another work in the same division

v &3




p

The incidental charges of a miscellaneous character that cannot be classified under any subhead. but the cost is added

The completed supply or work done at the time of measurement

Question ID : 2390877567
Status : Not Answered
Chosen Option : ==

Ans X" 1. Square
v 2. Mitre
/< 3. Single I
/< 4. Single bevel

Q83 wWhich of the following is a fillet weld?

Question ID : 2390877553
Status : Answered
Chosen Option : 2

Ans 3 1. Polythene sheets
/< 2. Mastic asphalt

/< 3. Bitumen felts
' 4 Cement concrete

Q.84 Which of the following materials falls under the category of rigid materials when checking the dampness of a material?

Question ID : 2390877502
Status : Not Answered
Chosen Option : ==

Ans X 1. 30 mm
' 2 50 mm
< 3 20 mm
< 4 45 mm

Q.85 According to IS 456:2000, what should be the nominal cover to reinforcement for footings?

Question ID : 2390877547
Status : Answered
Chosen Option : 2

Ans 3 1. Quartzite
#< 2. Granite
X 3. Marble
« 4 Sandstone

Q86 wWhich of the following is an example of a sedimentary rock?

Question ID : 2390877505
Status : Answered




l Chosen Option : 1 J

Q.87 A portion of the roadway, contiguous with the travelled way and is intended for accommeodation of stopped vehicle is
called as

Ans X1 Curbs
/< 2. Carriageway width
/< 3. Median
' 4 Shoulder

Question ID : 2390877594
Status : Not Answered
Chosen Option : ==

Q.88 The process of separating impurities from a suspending fluid by the action of natural forces alone is called:

Ans 1. chemical precipitation

/< 2. discrete particles
' 3 plain sedimentation

/< 4. sedimentation with coagulation

Question ID : 2390877513
Status : Not Answered
Chosen Option : ==

Q.89 For which of the following tunnel losses is Manning’s rugosity co-efficient used in the calculation of head loss?

Ans X 1. Loss due to change of velocity in expansion

« 2. Frictional loss
/< 3. Loss due to bend

/< 4. Loss due to change of velocity in contraction

Question ID : 2390877526
Status : Not Answered
Chosen Option : —-

Q.90 According to IS 10262:1982, what should be the compressive strength of OPC of grade C?
Ans  of 1 42.5t0 47.5 MPa

< 2. 47.5t0 52.5 MPa

< 3 32.5t037.5 MPa

&K 4 37.5t042.5 MPa

Question ID : 2390877538
Status : Answered
Chosen Option : 2

Q.91 On a rough terrain, what is the achievable accuracy of a chain under conductive conditions?
Ans X1 1in 500
v 2. 1in 250




<3 1in 1000
< 4.1 in 2000

Question ID : 2390877563
Status : Answered
Chosen Option : 1

Ans

<1 300 to 600 litres/hour/m?
23000 to 6000 litres/hour/m?
< 3500 to 1000 litres/hour/m?
v %100 to 200 litres/hour/m>

Q.92 What is the rate of filtration in a slow sand filter used for water purification?

Question ID : 2390877515
Status : Answered
Chosen Option : 3

Ans

/< 1. To provide a smooth and uniform surface for riding
/< 2. To provide skid resistance surface
« 3. To minimize the damaging effects of frost action

#< 4. To resist the abrasive forces of traffic

Q.93 Which of the following is the function of the sub base layer in the pavement?

Question ID : 2390877595
Status : Answered
Chosen Option : 1

when operating for 100 hours?

Q.94 What will be the capacity factor of hydro-power if a plant with a capacity of 10000 KW is to produce 400000 kWh

V28
X3 2
< 410

Ans X 1. 259
< 2. 30%
< 3 50%
v 4 40%
Question ID : 2390877528
Status : Answered
Chosen Option : 4
Q95 wWhat is the Moh’s hardness number for Topaz?
Ans X 1. 12

Question ID : 2390877506
Status : Not Answered




l

Chosen Option : ==

proposed by:

Ans X 1. National Transport Policy Committee

« 2. The Indian Roads Congress in 1934
< 3. Pierre Tresaguet
7% 4. The Nagpur Road Plan

Q.96 Division of the Indian roads into four classes as national highway, state highway, district roads and village roads was

Question ID : 2390877591
Status : Answered
Chosen Option : 2

bearing masonry units?

Ans X1 0.5 N/mm?2

A 2 15 N/mm?
v 3 3.5 N/mm?
& 4 2.5 N/mm?

Q.97 Asperthe IS 2185 (Partl) : 2005, what is the minimum average compressive strength for open and closed cavity load-

Question ID : 2390877507
Status : Not Answered
Chosen Option : ==

Q98 WWhat is the formula to calculate floor area ratio (FAR)?
Ans 3 1. Total covered area/built up area

/< 2. (total covered area = plot area)/(plot area)
/< 3. (total covered area + plot area)/(plot area)

« 4. total covered area/plot area

Question ID : 2390877568
Status : Answered
Chosen Option : 4

Q99 The Bernoulli's equation refers to the conservation of :

Ans X 1. force
< 2. momentum
/< 3. mass

o 4. energy

Question ID : 2390877530
Status : Answered
Chosen Option : 2

Q100 The unit of dynamic viscosity of a fluid is :




Ans

v N.s/m?
< 2 Nam/s

X3 N.s¥m
X 4 N.m?s

Question ID : 2390877532
Status : Answered
Chosen Option : 1






